sIREs e sda™ vd Ul gRyg A1 (SIRE's)
yeH grafered gd&r (2021-2022)

Model Question Paper Set - 02

Class - XI Subject - Mathematics Time - 1 Hrs. 30 Min. Full Marks - 40

General Instructions (A= fAd20):

> Itis mandatory to answer all the questions. (4T W= 31ard 2 |)

> The total number of questions is 40. (Je=I HI FHeT F=AT 40 T |)

> Each question carries 1 mark. (Y&&% Ued & foly 1 3fd FeiRa 2 1)

» Four options are given for each question, choose one of the correct option.

[P 999 B IR [ddey AU MU &, 39 | Udh 98! fAdhed &1 99+ HIfg )
> There is no negative marking for any wrong answer. (Ted ST & o1 @18 3id
Bl BIS ST |)

Which of the following is an example of the null set.

(a) set of odd natural numbers divisible by 2

(b) set of even prime number

(c) intersection of A = {2, 3,4} and B = {4, 6, 8}
(dA={x€eN, x+5=6}

fforad # o9 Rad aqzad &1 ISR &

(a) 2 | WISg [AWH Urdha MMl T A=

(b) | 3T RT3 BT Y

(c) 9g=d A = {2,3,4} 3R B = {4, 6,8} WS &I
(dJA={x €N, x+5=6}

Let A = {1, 2,{3, 4}, 5}, which of the following statements are incorrect.
afed A=1{1,2,{3,4},5}, & @ /91 § @I A1 A Tad 87
(a){3,4}c A (b){3,4} € A (c){{34}}cA (d1€A

The givenset {x : x € R,—4 < x < 6} be written in the form of interval as

e T = {x : x ER,—4 < x < 6} P JWRA & ¥I 4 [ TR A forg
AGd B

(a) (—4,6) (b) [—4,6) (c) (=4, 6] (d) [—4, 6]

Given the sets A =1{1,3,5}, B=1{2,4,6} and C ={0,2,4,6,8} which of the

following may be considered as universal set for all three sets A, B and C?
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10.

feu v wgeery A = {1,3,5}, B =1{2,4,6} 3R C =1{0,2,4,6,8}
A AAE S (U) §9-) ST G A, B 3R € W IR &

(a) {0,1,2,3,4,5,6} (b) @
(c){0,1,2,3,4,5,6,7,8,9,10}
{1, U
;
14D
A B

In the given Venn diagram, find set A

& Y 9 AN | T A DI AT DN

(a) {1,3,7,8) (b) {2,6,7,8)
(c){1,2,3,4,5,6,7,8} (d) {1,3,4,5}

If (afX) A = {3,5,7,9,11}, B = {7,9,11,13},C = {11,13, 15} and (3IR)
D = {1, 5,7}, then find (81 a1 SIrd &%) (AU D) N (B U ()

(a) {3,5,7,9,11,15,17} (b) {7,9,11,13,15)

(c){7,9,11,} (d) {3,5,7,9,11,13,15,17}

If f(x) = x% + 2x + 1, then value of f(0) is

Al (x) =x?+2x+1, a@ £(0) &1 A4 &

(a) 0 (b) 4 (c)1 (d)-1

The domain of real function f(x) = Vx — 1is

IRAfa® Held f(x) =Vx — 1 &1 Ud ®

(a) [1, 0] (b) 11, oo (©]—o0,~1[  (d)] — o0, —1]
If (@fd) Ax B ={(-2,3),(—2,4),(0,3),(0,4),(3,3),(3,4)}, then find A
(A ST B )

(@ {-203}  (b){3.4) ©{-234}  (d){-2,04)

If A ={2,3}and B = {4,5}. How many subsets will (A X B) have

(a) 4 (b) 8 (c)16 (d) none of these
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11.

12.

13.

14.

15.

16.

17.

afe A ={2,3} iR B ={4,5} & dI (A X B) & Iudqg=adl &I G foa grf?
(a) 4 (b) 8 (c)16 (d) T8 | BIS &

A wheel makes 360 revolutions in one minute. Through how many radians does it
turn in one second.

U ufgdr Udh e # 360 ORHHY &Ral & df Udh dds #H fdha- ST A19 BT BT
FATET?

(a) 8w (b) 12m (c)6m (d)18m

The value of sin765° is

sin765° & A9 &
1 1 1
(a)o0 (b) 7 (c) 3 (d) -7
The value of tan(15°) is (tan(15°) &7 HI9 8RM)
(a)2 — V3 (b)v/3 =2 (cW2 -3 (d) none of these
The value of sin36°.cos 9° + cos 36°.sin 9° is

sin36°.cos 9° 4+ cos 36°.sin 9° &T AT R

1 1 V3
(@) (b) 7 ()~ (d)1
if sinx = —% andt < x < 3;” Find the value of tanx

1 .

Hﬁsinxz—EGﬁ?n<x<3§.ﬁﬁtanxﬂv‘[ﬂﬁ?ﬂﬁfﬁ
(a) = (b) —= (-3 (d)V3
A3 V3 ¢
The principal value of the equation sin x = % are.

. V3
FHIGRIT sinx = — BT &I g BT

T 2T 2w 7T 71T 8T T 8T
(a) 33 (b) FYAry (c) FYAry (d) =, —

The general solution of the equation 2cos?x = 1 is

THRIOT 2cos?x =1 &I ATdD B8 BT

(mmmi%meZ (m%igmez1
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18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

(c) nm + %, nez (d) none of these
If (If2) cos x = E,o < x <Z,then (&1 1) find the value of sinZ (@T ¥ &1 )
(a) V5 (b) — () + (d) —V5
Vs V5
General solution of sin%x =0is

Wsin%zOWW%ﬂ%

2
(a) %, nezZ (b)nm, nez (c) 3n_7'[’ nez (d) none of these

If cosx = _?1, find the value of cos2x

IS cosx =_?1 8 di cos2x &T AT B8IT
(a) 1/2 (b) 1/4 (c) —1/2 (d) —1/4
The value of i1®is (i1® &1 #19 ERM)

(a) 1 (b) —1 (c) 2 (d) —2

1 . 1 .
The conjugate of the complex numberl—_i is (s A @ HYHAT B

(@) — (b)5 + (€) 3~ () —

Express i ~3% in the formof a + ib (i73° @I a + ib ®Y H Tdd )

(@) 1+ 0i (b) =1+ (c)0+1 (d) none of these
Express the complex number 3(7 +i7) + i(7 + i7) in the form of a + ib
3(7+i7) +i(7 +i7) P a + ib TT | Tad P

(a)14 — 28i (b) 14 + 28i (c) 7 + 14i (d) none of these
Modulus of the complex number z = —/3 + i is (W81 G&T z = —/3 + i &
AYTH 7)

(a)1 (b) 3 (c)4 (d) 2

If 24+ (x + iy) = 3 — i, then value of x and y are respectively

AfE 2+ (x +iy) =3 — i, 8 Al x 3R y BT A9 HHA: BETT

(@) 2,1 (b)1,-1 (c)0,0 (d)-2,2
Multiplicative inverse of 4 — 3i is (4 — 3i &I UMTHD gfirel | 81)
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28.

29.

30.

31

32.

33.

34.

35.

4 3. 4 3. 4 3. )
(a);+;l (b)E-I_El (C)£+El (d) 4 + 3i

1+ ™ . .
if :) = 1, then the least integral value of m is

ﬂﬁ(l—H)m=1,ﬂ>rmEH7\’EﬂFTﬁ_cﬁﬂﬁiﬁ"ﬂ

1-i
(a) 2 (b) 4 (c) -2 (d) -4
The solution of inequality 4x + 1 < 6x + 7 is
4x + 3 < 6x + 7 T 8 NI
(a) [-3, ) (b) (3, ) (€) (—o0,=3]  (d) (—2,%)
The solution of inequation =3 <3 —2x < 9, x € R will be
IR —3 <3 —2x <9, x € R BT & BRI
(@)]—3,3] (b) [-3, 3[ (c) (-3, 3) (d) none of these
solve [x| >4, x ER
TA BN |x| >4, xER
(a) 1-4, 4] (b) ] — 4, 00[
(c) ] — oo, =4[ U ]4, oo (d) ]—00,4] U [4, o]
fill in the blanks(R&@ 9 &1 W) : —6x < —18 = x...3
(a) > (b) = (c) < (d) <
The value of the limit lim,_,; (x3 — x% + 1) is will be
lim,_,(x3 — x? + 1) &1 A9 8RN

(@)o (b)1 (c)-1 (d)2

x3-2x2 )

The value of the limit lim,._,, (x2_5x+6

. x3-2x?
lim,..; (F50r) 1 @

(a) 4 (b) 0 (c) -4 (d) 2

s 1)°-1,
The value of the limit lim,,_, % is

5_
lim,_, &1 @7 A1 gnm

X

(a)o (b)5 (c)-1 (d) none of these
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36.

37.

38.

39.

40.

sin ax

The value of lim — (a,b # 0) will be
x—0 Sin bx
lim 32 g b % 0 &7 719 BT
x—0 Sin bx
a b) —2 ( a (d a?
@ [ (b) -3 o) )53
a+bx, x<1
suppose f(x) = { 4 , x=1 andiflim,_; f(x) = f(1) what are possible values
b—ax, x>1
of aand b?
a+bx, x<1
Hﬁi%ff%mf(x)={ 4 , x=1 3R Ilim,,, f(x) = f(1) d a IRb D A¥G dH
b—ax, x>1
7 87
(@a=4,b=0 (b)a=0,b =4
(c)a=0,b=—-4 (da=4,b=4
The value of the derivative of the function f(x) = (x —1)(x —2) at x =4 is

B f(x) = (x — 1)(x — 2) & AdHeASl g x =4 W &

(a) 5 (b) 8 (c) 10 (d)-6
The derivative of f(x) = sin x cosx with respect to x is

% f(x) = sin x cosx &1 JAdAS x D ATUE BRI

(a) sin 2x (b) tan 2x (c) cos2x (d)1
Derivative of x3 — 27 with respect to x is

x3 — 27 ®T JabAS x B AMUET BT

(a) x2 — 27 (b) 3x2 — 27 (c) 3x? (d) =27
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